



The Klein–Gordon–Zakharov equations with the positive fractional power terms and their exact solutions

JINLIANG ZHANG*, WUQIANG HU and YU MA

School of Mathematics and Statistics, Henan University of Science and Technology, Luoyang 471023, China

*Corresponding author. E-mail: zhangjin6602@163.com

MS received 25 July 2015; revised 5 February 2016; accepted 7 March 2016; published online 3 November 2016

Abstract. In this paper, the famous Klein–Gordon–Zakharov (KGZ) equations are first generalized, and the new special types of KGZ equations with the positive fractional power terms (gKGZE) are presented. In order to derive exact solutions of the new special gKGZE, subsidiary higher-order ordinary differential equations (sub-ODEs) with the positive fractional power terms are introduced, and with the aid of the sub-ODE, exact solutions of four special types of the gKGZE are derived, which are the bell-type solitary wave solution, the algebraic solitary wave solution, the kink-type solitary wave solution and the sinusoidal travelling wave solution, provided that the coefficients of gKGZE satisfy certain constraint conditions.

Keywords. Klein–Gordon–Zakharov equation with the positive fractional power terms; sub-ordinary differential equations method; exact solution; constraint condition.

PACS Nos 02.30.Jr; 05.45.Yv

1. Introduction

In this paper, we consider the famous Klein–Gordon–Zakharov (KGZ) equations:

$$\begin{cases} u_{tt} - k_1^2 u_{xx} + u = nu, \\ n_{tt} - k_2^2 n_{xx} = (|u|^2)_{xx}. \end{cases} \quad (1)$$

In eqs (1), the variable $u(x, t)$ is a complex function and $n(x, t)$ is a real function. Equations (1) appear in the area of plasma physics, and are used to describe the interaction of Langmuir waves and ion-acoustic waves in plasmas [1–3]. Therefore, their investigation is of physical significance.

Many researchers paid their attention to nonlinear KGZ system due to their potential application in plasma physics. Some exact solutions of eqs (1) are obtained using different methods [4–11]. In refs [4,5], using the F-expansion method, the periodic wave solutions expressed by Jacobi elliptic functions for eqs (1) are derived. In ref. [6], using the extended hyperbolic functions method, the multiple exact explicit solutions of eqs (1) are obtained. Using the solitary wave ansatz method, 1-soliton solution of the KGZ equation with power-law nonlinearity is given, and numerical simulations that support the analysis are included

[7]. Bifurcation analysis and the travelling wave solutions of the KGZ equations are studied in [8]. The topological soliton solution of the KGZ equation in (1+1) dimensions with power-law nonlinearity is derived and bifurcation analysis is studied in ref. [9]. In refs [10,11], Jacobi elliptic function expansion method is used to derive the periodic solutions for the KGZ equations. Gan *et al* [12,13] studied the instability of standing waves for KGZ equations. Linear stability analysis for periodic travelling waves of KGZ equations are performed in refs [14,15]. In refs [16–19], finite difference schemes are proposed for the initial-boundary problem of the KGZ equations.

The rest of the paper is organized as follows: In §2, KGZ equations are generalized, and the three special types of KGZ equations with the positive fractional power terms are presented; in §3, the sub-ODEs with the positive fractional power terms are introduced, and the exact solutions are given; in §4, the exact solutions of three new special types of the KGZ equations (5), (6) and (7) are derived in detail with the aid of the sub-ODE with the positive fractional power terms, respectively; in §5, some conclusions are made briefly.

2. The Klein–Gordon–Zakharov equations with the positive fractional power terms

In ref. [20], the KGZ equations with power-law nonlinearity are considered as

$$\begin{cases} u_{tt} - k_1^2 u_{xx} + au + bnu = 0, \\ n_{tt} - k_2^2 n_{xx} = c(|u|^{2m})_{xx}, \end{cases} \quad (2)$$

and the soliton solutions are given. It is obvious that eqs (2) become eqs (1) when $a = 1, b = -1, c = 1, m = 1$. In ref. [21], (2+1)-dimensional KGZ equation with power-law nonlinearity are studied as

$$\begin{cases} q_{tt} - \lambda^2(q_{xx} + q_{yy}) + q + rq + \alpha|q|^{2m}q = 0, \\ r_{tt} - \lambda^2(r_{xx} + r_{yy}) = (|q|^{2m})_{xx} + (|q|^{2m})_{yy}, \end{cases} \quad (3)$$

and soliton solutions are presented.

Based on refs [20,21], we generalize the KGZ equation as

$$\begin{cases} q_{tt} - \lambda^2 \Delta q + aq + brf(|q|^2)q + \alpha g(|q|^2)q = 0, \\ r_{tt} - \lambda^2 \Delta r = \beta \Delta [h(|q|^2)]. \end{cases} \quad (4)$$

where f, g and h are functions of q . It is easy to see that eqs (4) become eqs (3) when $a = b = \alpha = \beta = 1, \Delta = \partial^2/\partial x^2 + \partial^2/\partial y^2$.

Here, when we set $f(u) = g(u) = h(u) = u^{q/p}$ in eqs (4), the first new special type of KGZ equation with the positive fractional power terms is presented as

$$\begin{cases} u_{tt} - \lambda^2 u_{xx} + au + br|u|^{q/p}u + \alpha|u|^{q/p}u = 0, \\ r_{tt} - \lambda^2 r_{xx} = \beta(|u|^{q/p})_{xx}. \end{cases} \quad (5)$$

When $f(u) = 1, g(u) = u^{q/p} + u^{2q/p}, h(u) = u^{q/p}$ in eqs (4), the second new special type of KGZ equation with positive fractional power terms is presented as

$$\begin{cases} u_{tt} - \lambda^2 u_{xx} + au + bru + \alpha|u|^{q/p}u + \alpha|u|^{2q/p}u = 0, \\ r_{tt} - \lambda^2 r_{xx} = \beta(|u|^{q/p})_{xx}. \end{cases} \quad (6)$$

When $f(u) = 1, g(u) = u^{q/p} + u^{2q/p}, h(u) = u^{2q/p}$ in eqs (4), the third new special type of KGZ equation with the positive fractional power terms is presented as

$$\begin{cases} u_{tt} - \lambda^2 u_{xx} + au + bru + \alpha|u|^{q/p}u + \alpha|u|^{2q/p}u = 0, \\ r_{tt} - \lambda^2 r_{xx} = \beta(|u|^{2q/p})_{xx}. \end{cases} \quad (7)$$

In this paper, we are going to derive exact solutions of these new three special types of gKGZEs (5)–(7).

3. The sub-ODE with positive fractional power terms

Inspired by the subsidiary higher-order ordinary differential equations [22–29], we consider the nonlinear ODE with the positive fractional power terms as

$$F'^2(\xi) = AF^2(\xi) + BF^{(q/p)+2}(\xi) + CF^{(2q/p)+2}(\xi), \quad (8)$$

where $F(\xi)$ is a function of ξ, A, B and C are constants and p and q are positive integers.

Then eq. (8) admits exact solutions as follows:

- (1) When $A > 0, B = 2\sigma A, C = (\sigma^2 - 1)A, -1 < \sigma < 1,$

$$F(\xi) = \left[\frac{1}{\cosh(\sqrt{A}\xi q/p) - \sigma} \right]^{p/q}. \quad (9)$$

- (2) When $A = 0, B = 4p^2/q^2, C = -(4p^2/q^2)\sigma, \sigma > 0,$

$$F(\xi) = \left[\frac{1}{\xi^2 + \sigma} \right]^{p/q}. \quad (10)$$

- (3) When $A > 0, B = -2\sqrt{AC}, C > 0,$

$$F(\xi) = \left\{ \sqrt{\frac{A}{C}} \left[\frac{1}{2} \pm \frac{1}{2} \tanh\left(\frac{q}{2p}\sqrt{A}\xi\right) \right] \right\}^{p/q}. \quad (11)$$

- (4) When $A = -1, B = 2\sigma, C = 1 - \sigma^2,$

$$F(\xi) = \left[\frac{1}{\sigma \pm \sin(q\xi/p)} \right]^{p/q}. \quad (12)$$

Note 1: It should be noted that ODE (8) can admit other solutions, for example, the negative solutions for odd integer q , and so on. But for the sake of simplicity, we neglect the cases here.

4. Exact solutions of some special types of eqs (4)

4.1 The first special type KGZ equations (5)

Here we suppose the exact solutions of eqs (5) are in the form

$$\begin{aligned} u(x, t) &= v(\xi) \exp(i\eta), \quad r(x, t) = r(\xi), \\ \xi &= kx - \omega t, \quad \eta = lx - \theta t, \end{aligned} \quad (13)$$

where k, l, ω, θ are constants to be determined later.

Substituting (13) into (5) yields nonlinear equations as follows:

$$\theta\omega - lk\lambda^2 = 0, \quad (14)$$

$$\begin{aligned} (\omega^2 - k^2\lambda^2)v'' + (a + l^2\lambda^2 - \theta^2)v + brv^{(q/p)+1} \\ + \alpha v^{(q/p)+1} = 0, \end{aligned} \quad (15)$$

$$(\omega^2 - \lambda^2 k^2)r'' - \beta k^2(v^{q/p})'' = 0. \tag{16}$$

Integrating (16) twice and setting constants to zero yield

$$r = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} v^{q/p}. \tag{17}$$

Substituting (17) into (15) yields

$$(\omega^2 - k^2 \lambda^2)v'' + (a + l^2 \lambda^2 - \theta^2)v + \alpha v^{(q/p)+1} + \frac{b\beta k^2}{\omega^2 - \lambda^2 k^2} v^{(2q/p)+1} = 0. \tag{18}$$

Suppose the solutions of (18) are in the form of

$$v = DF(\xi), \tag{19}$$

where F satisfies eq. (8) and A, B, C and D are constants.

Substituting (19) into (18) and considering eq. (8) simultaneously, the left-hand side of eq. (18) becomes a polynomial in $F(\xi)$. When $\omega^2 - k^2 \lambda^2 \neq 0$, setting the coefficients of the polynomial in eq. (18) to zero yields

$$\begin{cases} A + \frac{a + l^2 \lambda^2 - \theta^2}{\omega^2 - k^2 \lambda^2} = 0, \\ (\omega^2 - k^2 \lambda^2) \left(\frac{q}{2p} + 1\right) B + \alpha D^{q/p} = 0, \\ (\omega^2 - k^2 \lambda^2) \left(\frac{q}{p} + 1\right) C + \frac{b\beta k^2}{\omega^2 - \lambda^2 k^2} D^{2q/p} = 0. \end{cases} \tag{20}$$

Solving the algebraic equations (14), (20) yields

$$\begin{cases} A = -\frac{a + l^2 \lambda^2 - \theta^2}{\omega^2 - k^2 \lambda^2}, \\ B = -\frac{2p\alpha D^{q/p}}{(\omega^2 - k^2 \lambda^2)(q + 2p)}, \\ C = -\frac{pb\beta k^2}{(\omega^2 - k^2 \lambda^2)^2(q + p)} D^{2q/p}, \end{cases} \tag{21}$$

where $D > 0, \theta\omega - lk\lambda^2 = 0, \omega^2 - k^2 \lambda^2 \neq 0$.

With the help of the sub-ODE (8), the exact solutions of eqs (5) are obtained as:

Case 4.1.1.

$$\begin{cases} u(x, t) = \sqrt[q \left[\frac{(q + 2p)(a + l^2 \lambda^2 - \theta^2)}{p\alpha} \sigma \right]^p} \times \left[\frac{1}{\cosh(\sqrt{A}\xi q/p) - \sigma} \right]^{p/q} \exp(i\eta), \\ r(x, t) = \frac{\sigma\beta k^2(q + 2p)(a + l^2 \lambda^2 - \theta^2)}{(\omega^2 - \lambda^2 k^2)p\alpha} \times \frac{1}{\cosh(\sqrt{A}\xi q/p) - \sigma}, \end{cases} \tag{22}$$

where

$$\xi = kx - \omega t, \quad \eta = lx - \theta t, \quad \omega = \lambda^2 \frac{lk}{\theta},$$

$$\sigma^2 = \frac{p\lambda^2 \alpha^2 (\lambda^2 l^2 - \theta^2)(q + p)}{p\lambda^2 \alpha^2 (\lambda^2 l^2 - \theta^2)(q + p) - b\beta \theta^2 (q + 2p)^2 (a + l^2 \lambda^2 - \theta^2)}, \tag{23}$$

and the constants satisfy the additional conditions

$$\frac{a + l^2 \lambda^2 - \theta^2}{\lambda^2 l^2 - \theta^2} < 0,$$

$$\frac{(a + l^2 \lambda^2 - \theta^2)\sigma}{\alpha} > 0,$$

$$b\beta > 0, \quad \lambda^2 k^2 \left(\frac{\lambda^2 l^2}{\theta^2} - 1 \right) \neq 0. \tag{24}$$

Case 4.1.2.

$$\begin{cases} u(x, t) = \sqrt[q \left[-\frac{2p(\omega^2 - k^2 \lambda^2)(q + 2p)}{\alpha q^2} \right]^p} \times \left[\frac{1}{\xi^2 + \sigma} \right]^{p/q} \exp(i\eta), \\ r(x, t) = -\frac{2p\beta k^2 (\omega^2 - k^2 \lambda^2)(q + 2p)}{\alpha q^2 (\omega^2 - \lambda^2 k^2)} \frac{1}{\xi^2 + \sigma}, \end{cases} \tag{25}$$

where

$$\begin{aligned} \xi &= kx - \omega t, \quad \eta = lx - \theta t, \quad \omega = \lambda^2 \frac{lk}{\theta}, \\ \theta^2 &= a + l^2 \lambda^2, \quad \sigma = \frac{pb\beta k^2(q + 2p)^2}{\alpha^2(q + p)q^2}, \end{aligned} \quad (26)$$

and the constants satisfy the additional conditions

$$\frac{\lambda^2 l^2 - \theta^2}{\alpha} < 0, \quad b\beta > 0$$

and

$$\lambda^2 k^2 \left(\frac{\lambda^2 l^2}{\theta^2} - 1 \right) \neq 0. \quad (27)$$

Case 4.1.3.

$$\begin{cases} u(x, t) = D \left\{ \sqrt{\frac{A}{C}} \left[\frac{1}{2} \pm \frac{1}{2} \tanh\left(\frac{q}{2p} \sqrt{A\xi}\right) \right] \right\}^{p/q} \\ \quad \times \exp(i\eta), \\ r(x, t) = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} \\ \quad \times D^{q/p} \sqrt{\frac{A}{C}} \left[\frac{1}{2} \pm \frac{1}{2} \tanh\left(\frac{q}{2p} \sqrt{A\xi}\right) \right], \end{cases} \quad (28)$$

where $\xi = kx - \omega t, \eta = lx - \theta t,$

$$A = -\frac{a + l^2 \lambda^2 - \theta^2}{\omega^2 - k^2 \lambda^2},$$

$$C = -\frac{pb\beta k^2}{(\omega^2 - k^2 \lambda^2)^2 (q + p)} D^{2q/p},$$

$$\begin{aligned} \frac{p\alpha^2(\omega^2 - k^2 \lambda^2)(q + p)}{b\beta k^2(q + 2p)^2} &= a + l^2 \lambda^2 - \frac{l^2 k^2 \lambda^4}{\omega^2}, \\ \theta &= \frac{lk\lambda^2}{\omega}, \end{aligned} \quad (29)$$

and the constants satisfy the additional conditions

$$\frac{\omega^2(a + l^2 \lambda^2) - l^2 k^2 \lambda^4}{\omega^2 - k^2 \lambda^2} < 0,$$

$$b\beta < 0, \quad \alpha(\omega^2 - k^2 \lambda^2) > 0,$$

$$D > 0, \quad \omega^2 - k^2 \lambda^2 \neq 0. \quad (30)$$

Case 4.1.4.

$$\begin{aligned} u(x, t) &= \sqrt[2q]{\left[\frac{(\omega^2 - k^2 \lambda^2)^2 (q + 2p)^2 (q + p)}{p^2 \alpha^2 (q + p) - pb\beta k^2 (q + 2p)^2} \right]^p} \\ &\quad \times \left[\frac{1}{\sigma \pm \sin(q\xi/p)} \right]^{p/q} \exp(i\eta), \\ r(x, t) &= \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} \\ &\quad \times \sqrt[2q]{\left[\frac{(\omega^2 - k^2 \lambda^2)^2 (q + 2p)^2 (q + p)}{p^2 \alpha^2 (q + p) - pb\beta k^2 (q + 2p)^2} \right]^p} \\ &\quad \times \frac{1}{\sigma \pm \sin(q\xi/p)}, \end{aligned} \quad (31)$$

where

$$\begin{aligned} \xi &= kx - \omega t, \quad \eta = lx - \theta t, \\ \theta^2 &= k^2 \lambda^2 \left(1 - \frac{a}{\omega^2 - k^2 \lambda^2} \right), \quad l = \frac{\theta \omega}{k \lambda^2}, \\ D &= \sqrt[2q]{\left[\frac{(\omega^2 - k^2 \lambda^2)^2 (q + 2p)^2 (q + p)}{p^2 \alpha^2 (q + p) - pb\beta k^2 (q + 2p)^2} \right]^p}, \end{aligned} \quad (32)$$

and the constants satisfy the additional conditions

$$\omega^2 - k^2 \lambda^2 \neq 0, \quad \alpha(\omega^2 - k^2 \lambda^2) < 0,$$

$$p\alpha^2(q + p) - b\beta k^2(q + 2p)^2 > 0,$$

$$\sigma = -\frac{p\alpha D^{q/p}}{(\omega^2 - k^2 \lambda^2)(q + 2p)} > 1,$$

$$\frac{a}{\omega^2 - k^2 \lambda^2} < 1. \quad (33)$$

4.2 The second special type KGZ equations (6)

Similar to §4.1, suppose the exact solutions of eqs (6) are in the form

$$u(x, t) = v(\xi) \exp(i\eta), \quad r(x, t) = r(\xi),$$

$$\xi = kx - \omega t, \quad \eta = lx - \theta t, \quad (34)$$

where k, l, ω, θ are constants to be determined later. Substituting (34) into (6) yields nonlinear equations as follows:

$$\theta \omega - lk\lambda^2 = 0, \quad (35)$$

$$r = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} v^{q/p}, \tag{36}$$

$$(\omega^2 - k^2 \lambda^2) v'' + (a + l^2 \lambda^2 - \theta^2) v + \left(\frac{\beta k^2 b}{\omega^2 - \lambda^2 k^2} + \alpha \right) v^{(q/p)+1} + \alpha v^{(2q/p)+1} = 0. \tag{37}$$

Suppose the solutions of (37) are in the form of

$$v = DF(\xi), \tag{38}$$

where F satisfies eq. (8) and A, B, C and D are constants.

Substituting (38) into (37) and considering eq. (8) simultaneously, the left-hand side of eq. (37) becomes a polynomial in $F(\xi)$, when $\omega^2 - k^2 \lambda^2 \neq 0$. Considering (35) and setting the coefficients of the polynomial in eq. (37) to zero yields

$$\begin{cases} \theta \omega - lk\lambda^2 = 0, \\ (\omega^2 - k^2 \lambda^2)A + (a + l^2 \lambda^2 - \theta^2) = 0, \\ \left(\frac{q}{2p} + 1 \right) (\omega^2 - k^2 \lambda^2) B + \left(\frac{\beta k^2 b}{\omega^2 - \lambda^2 k^2} + \alpha \right) D^{q/p} = 0, \\ \left(\frac{q}{p} + 1 \right) (\omega^2 - k^2 \lambda^2) C + \alpha D^{2q/p} = 0. \end{cases} \tag{39}$$

Solving the algebraic equations (39) yields

$$\begin{cases} A = -\frac{a + l^2 \lambda^2 - \theta^2}{\omega^2 - k^2 \lambda^2}, \\ B = -\frac{\left(\frac{\beta k^2 b}{\omega^2 - \lambda^2 k^2} + \alpha \right)}{\left(\frac{q}{2p} + 1 \right) (\omega^2 - k^2 \lambda^2)} D^{q/p}, \\ C = -\frac{\alpha D^{2q/p}}{\left(\frac{q}{p} + 1 \right) (\omega^2 - k^2 \lambda^2)}, \\ \theta \omega - lk\lambda^2 = 0, \quad \omega^2 - k^2 \lambda^2 \neq 0, \quad D > 0. \end{cases} \tag{40}$$

With the help of the sub-ODE (8), the exact solutions of eqs (6) are obtained as:

Case 4.2.1.

$$\begin{cases} u(x, t) = \sqrt[q]{\left\{ \frac{(a + l^2 \lambda^2 - \theta^2)(q + 2p)(\omega^2 - k^2 \lambda^2)\sigma}{p[\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2)]} \right\}^p} \\ \quad \times \left[\frac{1}{\cosh(\sqrt{A}\xi q/p) - \sigma} \right]^{p/q} \exp(i\eta), \\ r(x, t) = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} \\ \quad \times \frac{(a + l^2 \lambda^2 - \theta^2)(q + 2p)(\omega^2 - k^2 \lambda^2)\sigma}{p[\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2)]} \\ \quad \times \frac{1}{\cosh(\sqrt{A}\xi q/p) - \sigma}, \end{cases} \tag{41}$$

where

$$\xi = kx - \omega t, \quad \eta = lx - \theta t,$$

$$\sigma^2 = \frac{p(q + p) [\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2)]^2}{p(q + p) [\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2)]^2 - \alpha(q + 2p)^2 (\omega^2 - k^2 \lambda^2)^2},$$

$$\theta = \frac{lk\lambda^2}{\omega}, \tag{42}$$

and the constants satisfy the additional conditions

$$\omega^2 - k^2 \lambda^2 \neq 0, \quad \frac{a + l^2 \lambda^2 - \theta^2}{\omega^2 - k^2 \lambda^2} < 0, \quad \alpha < 0, \quad \frac{\sigma}{\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2)} < 0. \tag{43}$$

Case 4.2.2.

$$\begin{cases} u(x, t) = \left[\frac{1}{\xi^2 + \sigma} \right]^{p/q} \\ \quad \times \sqrt[q]{ \left[-\frac{2p(q+2p)(\omega^2 - k^2\lambda^2)^2}{q^2(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))} \right]^p } \exp(i\eta), \\ r(x, t) = -\frac{2p\beta k^2(q+2p)(\omega^2 - k^2\lambda^2)^2}{q^2(\omega^2 - \lambda^2 k^2)(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))} \\ \quad \times \frac{1}{\xi^2 + \sigma}, \end{cases} \quad (44)$$

where

$$\begin{aligned} \xi &= kx - \omega t, \quad \eta = lx - \theta t, \\ \sigma &= \frac{\alpha p (q + 2p)^2 (\omega^2 - k^2\lambda^2)^3}{q^2(q + p)(\omega^2 - k^2\lambda^2)(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))^2}, \\ l &= \pm \sqrt{\frac{a\omega^2}{(k^2\lambda^2 - \omega^2)\lambda^2}}, \\ \theta &= \pm \frac{k\lambda^2}{\omega} \sqrt{\frac{a\omega^2}{(k^2\lambda^2 - \omega^2)\lambda^2}}, \end{aligned} \quad (45)$$

and the constants satisfy the additional conditions

$$\begin{aligned} \omega^2 - k^2\lambda^2 &\neq 0, \\ \alpha(\omega^2 - \lambda^2 k^2) &> 0, \quad \beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2) < 0, \\ a(k^2\lambda^2 - \omega^2) &> 0. \end{aligned} \quad (46)$$

Case 4.2.3.

$$\begin{cases} u(x, t) = D \left\{ \sqrt{\frac{A}{C}} \left[\frac{1}{2} \pm \frac{1}{2} \tanh\left(\frac{q}{2p} \sqrt{A}\xi\right) \right] \right\}^{p/q} \\ \quad \times \exp(i\eta), \\ r(x, t) = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} \\ \quad \times D \sqrt{\frac{A}{C}} \left[\frac{1}{2} \pm \frac{1}{2} \tanh\left(\frac{q}{2p} \sqrt{A}\xi\right) \right], \end{cases} \quad (47)$$

where

$$\begin{aligned} \xi &= kx - \omega t, \quad \eta = lx - \theta t, \\ A &= -\frac{a + l^2\lambda^2 - \theta^2}{\omega^2 - k^2\lambda^2}, \\ C &= -\frac{\alpha D^{2q/p}}{\left(\frac{q}{p} + 1\right)(\omega^2 - k^2\lambda^2)}, \\ \theta &= \frac{lk\lambda^2}{\omega}, \\ l &= \pm \sqrt{\frac{(q+p)p\omega^2}{\alpha(q+2p)^2(\omega^2 - k^2\lambda^2)\lambda^2} \left(\frac{\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2)}{\omega^2 - \lambda^2 k^2} \right)^2} \\ &\quad - \frac{a\omega^2}{(\omega^2 - k^2\lambda^2)\lambda^2}, \end{aligned} \quad (48)$$

and the constants satisfy the additional conditions

$$\begin{aligned} \frac{(q+p)p(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))^2 - a\alpha(q+2p)^2(\omega^2 - k^2\lambda^2)^2}{\alpha(\omega^2 - k^2\lambda^2)} &\geq 0, \\ \omega^2 - k^2\lambda^2 &\neq 0, \quad \frac{a + l^2\lambda^2 - \theta^2}{\omega^2 - k^2\lambda^2} < 0, \quad \frac{\alpha}{\omega^2 - k^2\lambda^2} < 0, \quad D > 0. \end{aligned} \quad (49)$$

Case 4.2.4.

$$\begin{cases} u(x, t) = \left[\frac{1}{\sigma \pm \sin(q\xi/p)} \right]^{p/q} \sqrt[q]{ \left[-\frac{\sigma(q+2p)(\omega^2 - k^2\lambda^2)^2}{2p^2(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))} \right]^p } \exp(i\eta), \\ r(x, t) = -\frac{\sigma\beta k^2(q+2p)(\omega^2 - k^2\lambda^2)^2}{2p^2(\omega^2 - \lambda^2 k^2)(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))} \frac{1}{\sigma \pm \sin(q\xi/p)}, \end{cases} \quad (50)$$

where

$$\xi = kx - \omega t, \quad \eta = lx - \theta t,$$

$$\sigma^2 = \frac{4p^3(q + p)(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))^2}{4p^3(q + p)(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))^2 - \alpha(q + 2p)^2(\omega^2 - k^2 \lambda^2)},$$

$$l = \pm \sqrt{\frac{\omega^2(\omega^2 - k^2 \lambda^2 - a)}{\lambda^2(\omega^2 - k^2 \lambda^2)}}, \quad \theta = \pm \frac{k \lambda^2}{\omega} \sqrt{\frac{\omega^2(\omega^2 - k^2 \lambda^2 - a)}{\lambda^2(\omega^2 - k^2 \lambda^2)}}, \tag{51}$$

and the constants satisfy the additional conditions

$$\begin{aligned} \omega^2 - k^2 \lambda^2 &\neq 0, \quad \frac{a}{\omega^2 - k^2 \lambda^2} < 1, \\ \sigma[\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2)] &< 0. \end{aligned} \tag{52}$$

4.3 The third special type KGZ equations (7)

Similar to §4.1, suppose the exact solutions of eqs (7) are in the form

$$\begin{aligned} u(x, t) &= v(\xi) \exp(i\eta), \quad r(x, t) = r(\xi), \\ \xi &= kx - \omega t, \quad \eta = lx - \theta t, \end{aligned} \tag{53}$$

where k, l, ω, θ are constants to be determined later. Substituting (53) into (7) yields nonlinear equations as follows:

$$\theta \omega - lk \lambda^2 = 0, \tag{54}$$

$$r = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} v^{2q/p}, \tag{55}$$

$$\begin{aligned} (\omega^2 - k^2 \lambda^2)v'' + (a + l^2 \lambda^2 - \theta^2)v + \alpha v^{(q/p)+1} \\ + \left(\frac{\beta k^2 b}{\omega^2 - \lambda^2 k^2} + \alpha \right) v^{(2q/p)+1} = 0. \end{aligned} \tag{56}$$

Suppose the solutions of (56) are in the form of

$$v = DF(\xi), \tag{57}$$

where F satisfies eq. (5) and A, B, C and D are constants.

Substituting (57) into (56) and considering eq. (8) simultaneously, the left-hand side of eq. (56) becomes a polynomial in $F(\xi)$, when $\omega^2 - k^2 \lambda^2 \neq 0$. Setting the coefficients of the polynomial in eq. (56) to zero yields

$$\begin{cases} (\omega^2 - k^2 \lambda^2)A + (a + l^2 \lambda^2 - \theta^2) = 0, \\ \left(\frac{q}{2p} + 1 \right) (\omega^2 - k^2 \lambda^2)B + \alpha D^{q/p} = 0, \\ \left(\frac{q}{p} + 1 \right) (\omega^2 - k^2 \lambda^2)C \\ + \left(\frac{\beta k^2 b}{\omega^2 - \lambda^2 k^2} + \alpha \right) D^{2q/p} = 0. \end{cases} \tag{58}$$

Solving the algebraic eqs (58) yields

$$\begin{cases} A = -\frac{a + l^2 \lambda^2 - \theta^2}{\omega^2 - k^2 \lambda^2}, \\ B = -\frac{2p\alpha D^{q/p}}{(q + 2p)(\omega^2 - k^2 \lambda^2)}, \\ C = -\frac{p(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))D^{2q/p}}{(q + p)(\omega^2 - k^2 \lambda^2)^2}, \\ D > 0, \quad \omega^2 - k^2 \lambda^2 \neq 0. \end{cases} \tag{59}$$

With the help of the sub-ODE (8), the exact solutions of eqs (7) are obtained as follows:

Case 4.3.1.

$$\begin{cases} u(x, t) = \sqrt[q]{\left[\frac{(q+2p)(a+l^2\lambda^2-\theta^2)}{p\alpha}\sigma\right]^p} \\ \quad \times \left[\frac{1}{\cosh(\sqrt{A}\xi q/p) - \sigma}\right]^{p/q} \exp(i\eta), \\ r(x, t) = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} \\ \quad \times \left(\frac{\sigma(q+2p)(a+l^2\lambda^2-\theta^2)}{p\alpha(\cosh(\sqrt{A}\xi q/p) - \sigma)}\right)^2, \end{cases} \quad (60)$$

where

$$\xi = kx - \omega t, \quad \eta = lx - \theta t,$$

$$A = -\frac{a+l^2\lambda^2-\theta^2}{\omega^2-k^2\lambda^2},$$

$$\sigma^2 = \frac{1}{1 - \frac{(q+2p)^2(a+l^2\lambda^2-\theta^2)(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))}{p\alpha^2(q+p)(\omega^2 - k^2\lambda^2)}}, \quad (61)$$

and the constants satisfy the additional conditions

$$\omega^2 - k^2\lambda^2 \neq 0,$$

$$\frac{a+l^2\lambda^2-\theta^2}{\omega^2-k^2\lambda^2} < 0, \quad \frac{(a+l^2\lambda^2-\theta^2)\sigma}{\alpha} > 0,$$

$$\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2) > 0. \quad (62)$$

Case 4.3.2.

$$\begin{cases} u(x, t) = \sqrt[q]{\left[-\frac{2p(q+2p)(\omega^2-k^2\lambda^2)}{\alpha q^2}\right]^p} \\ \quad \times \left[\frac{1}{\xi^2 + \sigma}\right]^{p/q} \exp(i\eta), \\ r(x, t) = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} \\ \quad \times \left(-\frac{2p(q+2p)(\omega^2-k^2\lambda^2)}{\alpha q^2} \frac{1}{\xi^2 + \sigma}\right)^2, \end{cases} \quad (63)$$

where

$$\xi = kx - \omega t, \quad \eta = lx - \theta t,$$

$$\sigma = \frac{p(q+2p)^2(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))}{\alpha^2 q^2 (q+p)}, \quad (64)$$

and the constants satisfy the additional conditions

$$a+l^2\lambda^2-\theta^2=0, \quad \beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2) > 0,$$

$$\omega^2 - k^2\lambda^2 \neq 0, \quad \frac{\omega^2 - k^2\lambda^2}{\alpha} < 0. \quad (65)$$

Case 4.3.3.

$$\begin{cases} u(x, t) = D \left\{ \sqrt{\frac{A}{C}} \left[\frac{1}{2} \pm \frac{1}{2} \tanh\left(\frac{q}{2p}\sqrt{A}\xi\right) \right] \right\}^{p/q} \\ \quad \times \exp(i\eta), \\ r(x, t) = \frac{\beta k^2 D^{2q/p}}{\omega^2 - \lambda^2 k^2} \\ \quad \times \left\{ \sqrt{\frac{A}{C}} \left[\frac{1}{2} \pm \frac{1}{2} \tanh\left(\frac{q}{2p}\sqrt{A}\xi\right) \right] \right\}^2, \end{cases}$$

where

$$\xi = kx - \omega t, \quad \eta = lx - \theta t, \quad \omega^2 - k^2\lambda^2 \neq 0,$$

$$A = -\frac{a+l^2\lambda^2-\theta^2}{\omega^2-k^2\lambda^2},$$

$$C = -\frac{p(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))D^{2q/p}}{(q+p)(\omega^2 - k^2\lambda^2)^2},$$

$$\theta^2 = a+l^2\lambda^2 - \frac{p(\omega^2 - k^2\lambda^2)(q+p)\alpha^2}{(q+2p)^2(\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2))}, \quad (66)$$

and the constants satisfy the additional conditions

$$D > 0, \quad \frac{a+l^2\lambda^2-\theta^2}{\omega^2-k^2\lambda^2} < 0, \quad \frac{\alpha}{(\omega^2-k^2\lambda^2)} > 0,$$

$$\beta k^2 b + \alpha(\omega^2 - \lambda^2 k^2) < 0. \quad (67)$$

Case 4.3.4.

$$\begin{cases} u(x, t) = \left[-\frac{\sigma(q+2p)(\omega^2-k^2\lambda^2)}{p\alpha(\sigma \pm \sin(q\xi/p))} \right]^{p/q} \\ \quad \times \exp(i\eta), \\ r(x, t) = \frac{\beta k^2}{\omega^2 - \lambda^2 k^2} \\ \quad \times \left(-\frac{\sigma(q+2p)(\omega^2-k^2\lambda^2)}{p\alpha(\sigma \pm \sin(q\xi/p))} \right)^2, \end{cases} \quad (68)$$

where

$$\xi = kx - \omega t, \quad \eta = lx - \theta t,$$

$$\omega^2 = a + l^2\lambda^2 - \theta^2 + k^2\lambda^2,$$

$$\sigma^2 = \frac{1}{1 - \frac{(q + 2p)^2(\beta k^2 b + \alpha a + \alpha l^2\lambda^2 - \alpha\theta^2)}{p\alpha^2(q + p)}}, \tag{69}$$

and the constants satisfy

$$a + l^2\lambda^2 - \theta^2 > 0, \quad \frac{\sigma}{\alpha} < 0,$$

$$\frac{(q + 2p)^2(\beta k^2 b + \alpha a + l^2\lambda^2\alpha - \alpha\theta^2)}{p\alpha^2(q + p)} < 1,$$

$$a \neq \theta^2 - l^2\lambda^2. \tag{70}$$

Note 2: There are other special types of KGZ equation if $f(u)$, $g(u)$ and $h(u)$ are set to other special functions, and the exact solutions of these special type KGZ equations can be derived with the help of the sub-ODE (8). Here we do not discuss these problems in detail.

Note 3: The exact solutions of multidimensional KGZ equations with the positive fractional power terms can be obtained with the help of the sub-ODE (8). Here we do not discuss these problems in detail.

5. Conclusions and discussions

In this paper, the KGZ equations are first generalized, and special types of KGZ equations with the positive fractional power terms are introduced.

Secondly, subsidiary higher-order ordinary differential equations with the positive fractional power terms are presented.

Thirdly, exact solutions of four special types of KGZ equations with the positive fractional power terms are derived with the aid of the sub-ODE, which are the bell-type solitary wave solution, the algebraic solitary wave solution, the kink-type solitary wave solution and the sinusoidal travelling wave solution, provided the coefficients of gKGZE satisfy certain constraint conditions.

It is obvious that the method introduced in this paper may be applied to explore exact solutions for other nonlinear evolution equations with positive fractional power terms.

Acknowledgement

The authors would like to express their sincere thanks to the referees for their valuable suggestions. This

project is supported in part by the Basic Science and the Front Technology Research Foundation of Henan Province of China (Grant No.092300410179) and the Scientific Research Innovation Ability Cultivation Foundation of Henan University of Science and Technology (Grant No. 011CX011).

References

- [1] P F Byrd and M D Fridman, *Handbook of elliptic integrals for engineers and scientists* (Springer, Berlin, 1971)
- [2] R O Dendy, *Plasma dynamics* (Oxford University Press, Oxford, 1990)
- [3] V E Zakharov, *Sov. Phys. JETP* **35**, 908 (1972)
- [4] J L Zhang, M L Wang, D M Cheng and Z D Fang, *Commun. Theor. Phys.* **40**, 129 (2003)
- [5] H L Chen and S Q Xian, *Acta Math. Appl. Sinica* **29**, 1139 (2006)
- [6] Y D Shang, Y Huang and W J Yuan, *Comput. Math. Appl.* **56**, 1441 (2008)
- [7] A Biswas and M S Ismail, *Appl. Math. Comput.* **217**, 4186 (2010)
- [8] Z Y Zhang, F L Xia and X P Li, *Pramana – J. Phys.* **80**, 41 (2013)
- [9] M Song, B S Ahmed and A Biswas, *J. Appl. Math.* 972416 (2013)
- [10] S K Liu, Z T Fu, S D Liu and Z G Wang, *Phys. Lett. A* **323**, 415 (2004)
- [11] B J Hong and F S Sun, *Commun. Math. Res.* **26(2)**, 97 (2010)
- [12] Z H Gan and J Zhang, *J. Math. Anal. Appl.* **307**, 219 (2005)
- [13] Z H Gan, B L Guo and J Zhang, *J. Diff. Eq.* **246**, 4097 (2009)
- [14] S Hakkaev, M Stanislavova and A Stefanov, arXiv:1202.2133 (2012)
- [15] M Stanislavova and A Stefanov, arXiv:1108.2417 (2011)
- [16] T C Wang, J Chen and L M Zhang, *J. Comput. Appl. Math.* **205**, 430 (2007)
- [17] J Chen and L M Zhang, *Acta Math. Appl. Sinica* **28**, 325 (2012)
- [18] T C Wang, J Chen and L M Zhang, *J. Comput. Appl. Math.* **205**, 430 (2007)
- [19] T C Wang and Y Jiang, *Chin. J. Engng. Math.* **31**, 310 (2014)
- [20] H Triki and N Boucerredj, *Appl. Math. Comput.* **227**, 341 (2014)
- [21] M Ekici, D Duran and A Sonmezoglu, *ISRN Comput. Math.* 716279 (2013)
- [22] M L Wang, X Z Li and J L Zhang, *Phys. Lett. A* **363**, 96 (2007)
- [23] J L Zhang, M L Wang and X Z Li, *Commun. Theor. Phys.* **45**, 343 (2006)
- [24] J L Zhang, M L Wang and X Z Li, *Phys. Lett. A* **357**, 188 (2006)
- [25] J L Zhang and M L Wang, *Pramana – J. Phys.* **67**, 1011 (2006)
- [26] M L Wang, X Z Li and J L Zhang, *Chaos, Solitons and Fractals* **31**, 594 (2007)
- [27] L P Xu and J L Zhang, *Chaos, Solitons and Fractals* **31**, 937 (2007)
- [28] M L Wang, J L Zhang and X Z Li, *Commun. Theor. Phys.* **50**, 39 (2008)
- [29] J L Zhang, M L Wang and K Q Gao, *Chaos, Solitons and Fractals* **32**, 1877 (2007)